MERCRUISER (D4.2L/200 LD WM 254 |/LE) ¥ IR COOLER b
Serial Mbr Range: 0L344381 THRU 0333339 ()

Ref | Class|Part Description [t Comment Foolnote
2 o5 511455 01 AING 2
3 254162 RADIATOR INSERT i
4 10 511487 AMODE/PLUG ASSEMELY |1
5 &16000  AMODE 1
3 12 B11483 WASHER-SEALING 1
7 57 FE4714] GASKET i
5 854215 HOUSING i
3 % 511485 O RING 2
10 809725 PLATE 1
11 BE4Z17) COVER 1
1z | 10 203607 FLUG-DRAIN i
13 | 10 509724 SCREW (M8 35] 5
TREE 511460 WASHER 12
B | 16 S50 STUD Ma X 115] 5
16 | 16 BE0413 STLID M3 X 22] 7
17 11 BR4037 NUIT 1z
20 ., 8 S54T07 | GASKET g 3
V2 19 854203 LIFTING EYE 1
\ 20 | 10 854118 SCREW (M8 % 20] 2
Gy | 7 13 511364 LOCKWASHER (ME] 5
e 7 280521 | FLATE i i
/ R 580822 ORING i 1
19— - 24 | 10 880823 SCREW (M5 % 20] 2 1
* 580824 FICKUPBO0ST PRESSURE |1 1
§ 57 581742 OVERHALIL GASKET SET 1




